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Subtraction and Division

Let’s take it up a notch!

Try to write either “-” or “÷”:

1

9 ㅡ 3 = 3 8 ㅡ2 = 6

9 ㅡ 3 = 6 8 ㅡ2 = 4

6 ㅡ 1 = 5 8 ㅡ4 = 2

6 ㅡ 1 = 6 8 ㅡ4 = 4

2 ㅡ 2 = 1 10 ㅡ2 = 8

2 ㅡ 2 = 0 10 ㅡ2 = 5

4 ㅡ 2 = 2 10 ㅡ5 = 5

4 ㅡ 2 = 2 10 ㅡ5 = 2
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Solutions

Spoilers ahead!
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Subtraction and Division

Let’s take it up a notch!

Try to write either “-” or “÷”:

3

9 ÷ 3 = 3 8 - 2 = 6

9 - 3 = 6 8 ÷ 2 = 4

6 - 1 = 5 8 ÷ 4 = 2

6 ÷ 1 = 6 8 - 4 = 4

2 ÷ 2 = 1 10 - 2 = 8

2 - 2 = 0 10 ÷ 2 = 5

4 - 2 = 2 10 - 5 = 5

4 ÷ 2 = 2 10 ÷ 5 = 2
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